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NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

 

NEET MICRO TEST 18 (28.11.2024)    20x4=80 MARKS 

 

Botany: Ecosystem, Zoology: Body fluids & circulation 

Chemistry: Alcohols Phenols & Ethers, Physics: Moving Charges & Magnetism 

 

1. What is the percentage of PAR in incident solar 

radiation? 

1) 100% 

2) < 50% 

3) > 70% 

4) 2 - 10% 

 

2. Statement-I: Humus is highly resistant to 

microbial action and undergoes decomposition 

rapidly. 

Statement-II: Rate of decomposition is faster in 

aerobic conditions. 

1) Both Statements I and II are correct 

2) Statement I is correct, statement II is incorrect 

3) Statement I is incorrect, statement II is correct 

4) Both statements I and II are incorrect 

 

3. Which of these is a common herbivores in aquatic 

ecosystem? 

1) Insect 

2) Birds 

3) Mammals 

4) Molluscs 

 

4. Match the following 

a) Catabolism i) Precipitation of water 

soluble inorganic nutrient 

as unavailable salt by 

going down into the soil 

horizon. 

b) Humification ii) Release of inorganic 

nutrients from humus. 

c) Leaching iii) Degradation of detritus 

by bacterial and fungal 

enzyme. 

d) Mineralisation iv) Leads to accumulation of 

dark coloured amorphous 

substance which serves as 

a reservoir of nutrients. 

1) a-iii, b-i, c-iv, d-ii 

2) a-iv, b-i, c-ii, d-iii 

3) a-iii, b-iv, c-i, d-ii 

4) a-ii, b-iii, c-iv, d-i 

 

1. R+upa fjpu;tPr;rpy; PAR (xspr;Nrh;f;ifrhh; 
nraY}f;fj;jpw;fhd fjph;tPr;R) ,d; rjtPjk; 
vt;tsT? 

1) 100% 

2) < 50% 

3) > 70% 

4) 2 - 10% 

 

2. $w;W-I: kl;FnghUs; Ez;Zapu; eltbf;iff;F 
kpfTk; vjpu;g;Gj; jpwd; nfhz;lJ kw;Wk; 
tpiuthf rpijtilfpwJ. 

$w;W-II: fhw;Ws;s epiyfspy; rpijT tpfpjk; 
Ntfkhf ,Uf;Fk;. 
1) I kw;Wk; II ,uz;L $w;WfSk; rupahdit 

2) $w;W I rupahdJ> $w;W II jtwhdJ 

3) $w;W I jtwhdJ> $w;W II rupahdJ 

4) I kw;Wk; II ,uz;L $w;WfSk; jtwhdit 

 

3. ,tw;wpy; vJ ePu;tho; Rw;Wr;R+oy; mikg;gpy; 
nghJthd jhtutiffs;? 

1) G+r;rp 
2) gwitfs; 
3) ghY}l;bfs; 
4) nky;Ylypfs; 

 

4. gpd;tUtdtw;iwg; nghUj;jTk; 
a) 
rpijkhw;wk; 

i) kz;zpd; mbj;jsj;jpy; 
,wq;Ftjd; %yk; ePupy; 
fiuaf;$ba fdpk rj;J 

fpilf;fhj cg;ghf gbjy;. 
b) <ug;gjk; ii) kl;fpaj;jpypUe;J fdpk 

rj;Jf;fis ntspapLjy;. 
c) frpT iii) ghf;Bupay; kw;Wk; G+Q;ir 

vd;irk; %yk; rpijT$sk; 
rpijTWfpwJ. 

d) fdpk 
kakhf;fy; 

iv) Cl;lr;rj;Jf;fspd; 
Njf;fkhf nray;gLk; mlu; epw 
cUtkw;w nghUs; Ftptjw;F 

toptFf;fpwJ. 

1) a-iii, b-i, c-iv, d-ii 

2) a-iv, b-i, c-ii, d-iii 

3) a-iii, b-iv, c-i, d-ii 

4) a-ii, b-iii, c-iv, d-i 
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5. Base of any pyramid always represents? 

1) producers 

2) decomposers 

3) consumers 

4) detritivores 

 

6. Percentage of proteins and water in the plasma 

respectively 

1) 55%, 45% 

2) 6-8%, 90-92% 

3) 90-92%, 6-8% 

4) 45%, 55% 

 

7. The WBC that are associated with allergic 

reactions 

1) Neutrophils 

2) Eosinophils 

3) Monocytes 

4) Lymphocytes 

 

8. Study the following. 

a) Two chambered heart is the characteristic 

feature of fishes 

b) Three chambered heart found in all reptiles 

c) Four chambered heart found in aves and 

mammals only 

d) Three chambered heart found in amphibians 

e) All vertebrates have muscular chambered 

heart 

Select the correct option. 

1) a, b & c 

2) b, c & d 

3) c, d & e 

4) a, d & e 

 

9. Conversion of fibrinogen to fibrin is catalyzed by 

1) Prothrombin 

2) Thrombokinase 

3) Thrombin 

4) All the above 

 

10. Cardiac output is blood 

1) received by heart per minute 

2) pumped by ventricles per second 

3) pumped by left ventricle per minute 

4) pumped by left ventricle per hour 
 

 

 

5. ve;j gpukpl;bd; mbj;jsk; vg;NghJk; 
gpujpgypf;fpwJ? 

1) cw;gj;jpahsu;fs; 
2) rpijg;gtu;fs; 
3) Efu;Nthu; 
4) kl;Fz;zpfs; 

 

6. gpsh];khtpy; KiwNa Gujq;fs; kw;Wk; ePupd; 
rjtPjk; 
1) 55%, 45% 

2) 6-8%, 90-92% 

3) 90-92%, 6-8% 

4) 45%, 55% 

 

7. xt;thik vjpu;tpisTfSld; njhlu;Gila 

WBC 

1) epA+l;Nuhgpy;]; 
2) <rpNdhgpy;]; 
3) NkhNdhirl;Lfs; 
4) ypk;Nghirl;Lfs; 

 

8. gpd;tUtdtw;iwg; gbf;fTk;. 
a) ,uz;L miw ,jak; kPd;fspd; rpwg;gpay;G 

mk;rkhFk; 
b) midj;J Cu;tdtw;wpYk; %d;W miw 

,jak; fhzg;gLk; 
c) ehd;F miwfs; nfhz;l ,jak; gwitfs; 

kw;Wk; ghY}l;bfspy; kl;LNk fhzg;gLfpwJ 

d) ,Utho;tpfspy; fhzg;gLtJ %d;W miw 
,jak; 

e) midj;J KJnfYk;gpfSk; jir miw 
nfhz;l ,jaj;ijf; nfhz;Ls;sd 

rupahdijj; Nju;e;njLf;fTk;. 
1) a, b & c 

2) b, c & d 

3) c, d & e 

4) a, d & e 

 

9. /igg;upNdh[id /igg;upd; Mf khw;WtJ ,jd; 
%yk; tpidA+f;fg;gLfpwJ 

1) GNuhj;uhk;gpd; 
2) j;Nuhk;NghfpNd]; 
3) j;Nuhk;gpd; 
4) NkNy cs;s midj;Jk; 

 

10. ,ja ntspaPL ,uj;jk; 
1) epkplj;jpw;F ,jaj;jhy; ngwg;gl;lJ 

2) tpdhbf;F ntd;l;upf;fps;fshy; ce;jk; 
nra;ag;gLfpwJ 

3) epkplj;jpw;F ,lJ ntd;l;upf;fps; %yk; 
ce;jk; nra;ag;gLfpwJ 

4) xU kzp Neuj;jpw;F ,lJ ntd;l;upf;fps; 
%yk; ce;jk; nra;ag;gLfpwJ 
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11. Most acidic compound among the following is 

1)  

2)  

3)  

4)  

12.  

 
Product A and B are related as 

1) Chain isomers 

2) Stereoisomers 

3) Functional isomers 

4) Position isomers 
 

13. Identify the chemical reaction in which tert–

butylmethylether is formed as the major product. 

1) CH3OˉNa
+ + (CH3)3 C–Br 

  Dry ether  
→         

2) (CH3)2 CH – OˉK+ + CH3 – Br 
  Dry ether  
→         

3) (CH3)3 C – OˉK+ + H3C – Br 
  Dry ether  
→         

4) CH3CH2 – OˉNa+ + (CH3)2CH – Br 
  Dry ether  
→         

 

14. The compound which will give iodoform test is 

1) Methanol 

2) Ethanol 

3) Propan–1–ol 

4) 2–methylpropan–2–ol 
 

15. Consider the reaction 

CH3(CH2)8CH2OH 
  CrO3−H2SO4  
→           A. A is 

1) CH3(CH2)8CHO 

2) CH3(CH2)8COOH 

3) CH3CO(CH2)7CH3 

4) HOOC(CH2)8COOH 

11. gpd;tUtdtw;wpy; mjpf mkpyj;jd;ik 
cilaJ vJ? 

1)  

2)  

3)  

4)  

12 

 
A kw;Wk; B Mfpa tpisnghUl;fSf;F 
,ilNaahd njhlh;G 

1) rq;fpyp INrhku;fs; 
2) ];BupNahNrhku;fs; 
3) tpidnray; njhFjp INrhku;fs; 
4) ,lkhw;wpaq;fs; 

 

13. fPo;fz;l vt;tpidapy; %tpiza gpA+l;ily; 
nkjpy; <ju; mjpf msT cUthFk;? 

1) CH3OˉNa
+ + (CH3)3 C–Br 

  Dry ether  
→         

2) (CH3)2 CH – OˉK+ + CH3 – Br 
  Dry ether  
→         

3) (CH3)3 C – OˉK+ + H3C – Br 
  Dry ether  
→         

4) CH3CH2 – OˉNa+ + (CH3)2CH – Br 
  Dry ether  
→         

 

14. mNahNlh/ghu;k; Nrhjid nfhLg;gJ vJ? 
1) nkj;jdhy; 
2) vj;jdhy; 
3) g;Nuhghd;–1–My; 
4) 2–nkj;jpy;g;Nuhgd;–2–My; 

 

15. fPo;fz;l tpidapy; 

CH3(CH2)8CH2OH 
  CrO3−H2SO4  
→           A. A is 

1) CH3(CH2)8CHO 

2) CH3(CH2)8COOH 

3) CH3CO(CH2)7CH3 

4) HOOC(CH2)8COOH 
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16. A current of 1/4π A is flowing in a long straight 

conductor. The line integral of magnetic 

induction around a closed path enclosing the 

current carrying conductor is 

1) 4π x 10–7 Wb/m 

2) 10–7 Wb/m 

3) 16π2 x 10–7 Wb/m 

4) zero 
 

17. The length of a solenoid is 0.1 m and its diameter 

is very small. A wire is wound over in two layers. 

The number of turns in the inner layer is 50 and 

that on the outer layer is 40. The strength of 

current flowing in two layers in the same 

direction is 3 ampere. The magnetic induction in 

the middle of the solenoid will be 

1) 3.4 x 10–3 T 

2) 3.4 x 10–3 gauss 

3) 3.4 x 103 T 

4) 3.4 x 103 gauss 
 

18. A, B and C are parallel conductors of equal 

length carrying currents I, I and 2I respectively. 

Distance between A and B is x. Distance 

between B and C is also x. F1 is the force exerted 

by B on A and F2 is the force exerted by C on A. 

Choose the correct answer 

 
1) F1 = 2F2 

2) F2 = 2F1 

3) F1 = F2 

4) F1 = –F2 
 

19. The relation between voltage sensitivity σV and 

the current sensitivity σ1 of a moving coil 

galvanometer is (Given that G is the resistance of 

the galvanometer) 

1) σV = Gσi 

2) σV = σi /G 

3) σVσ1 = G 

4) σVσ1 = 1/G 
 

20. The scale of a galvanometer is divided into 150 

equal division. The galvanometer has the current 

sensitivity of 10 divisions per mA and the 

voltage sensitivity of 2 divisions per mV. How 

the galvanometer can be designed to read  

(a) 6A / division and (b) 1V/ division? 

1) S = 8.3 x 10–5Ω, R = 9995Ω 

2) S = 8.3 x 10–2Ω, R = 995Ω 

3) S = 4.3 x 10–5Ω, R = 9950Ω 

4) S = 8.3 x 10–5Ω, R = 995Ω 

16. 1/4π A kpd;Ndhl;lkhdJ ePz;l Neuhd 

flj;jpapy; gha;fpwJ. mk;kpd;Ndhl;lj;jhy; 
flj;jpiar; Rw;wpAs;s %ba ghijapy; 
Nfhl;Ltopj; njhifaPl;L fhe;j J}z;ly;  
1) 4π x 10–7 Wb/m 

2) 10–7 Wb/m 

3) 16π2 x 10–7 Wb/m 

4) zero 
 

17. xU thpr;RUspd; ePsk; 0.1 m kw;Wk; mjd; tpl;lk; 
kpfTk; rpwpaJ. xU fk;gp ,uz;L mLf;Ffshf 

Rw;wg;gl;Ls;sJ. cs; mLf;fpy; cs;s 

jpUg;gq;fspd; vz;zpf;if 50 kw;Wk; ntspg;Gw 

mLf;fpy; 40. xNu jpirapy; ,uz;L mLf;Ffspy; 
ghAk; kpd;Ndhl;lj;jpd; typik 3 Mk;gpau; 
MFk;. thpr;RUspd; eLtpy; fhe;j J}z;ly; 
,t;thwhf ,Uf;Fk; 
1) 3.4 x 10–3 T 2) 3.4 x 10–3 gauss 

3) 3.4 x 103 T 4) 3.4 x 103 gauss 
 

18. A, B kw;Wk; C Mfpait KiwNa I, I kw;Wk; 2I 
kpd;Ndhl;lq;fisr; Rke;J nry;Yk; rk ePs 

,iz flj;jpfshFk;. A kw;Wk; B ,ilNa 

cs;s J}uk; x MFk;. B kw;Wk; C ,ilNa 

cs;s J}uKk; x MFk;. F1 vd;gJ A ,y; B My; 
nrYj;jg;gLk; tpir kw;Wk; F2 vd;gJ A ,y; C 

My; nrYj;jg;gLk; tpirahFk;. fPo;fz;l 
tw;wpy; rupahd gjpiyj; Nju;e;njLf;fTk; 

 
1) F1 = 2F2 2) F2 = 2F1 

3) F1 = F2 4) F1 = –F2 
 

19. kpd;dOj;j czu;jpwd; σV kw;Wk; xU ,aq;F 
RUs; fhy;tNdhkPl;lupd; kpd;Ndhl;l czu; 
jpwd; σ1 Mfpatw;Wf;F ,ilNaahd njhlu;G 
(G vd;gJ fhy;tNdhkPl;lupd; vjpu;g;ghFk;) 
1) σV = Gσi 

2) σV = σi /G 

3) σVσ1 = G 

4) σVσ1 = 1/G 
 

20. fhy;tNdhkPl;lupd; msTNfhy; 150 rk 

gpupTfshf gpupf;fg;gl;Ls;sJ. fhy;tNdhkPl;lu; 
xU mA f;F 10 gpupTfspd; kpd;Ndhl;l 

czu;jpwd; kw;Wk; xU mV f;F 2 gpupTfspd; 
kpd;dOj;j czu;jpwd; nfhz;lJ. 

fhy;tNdhkPl;liu vt;thW (a) 6A / gpupT kw;Wk; 
(b) 1V/ gpupT czu;jpwDf;F tbtikf;f 

KbAk;? 

1) S = 8.3 x 10–5Ω, R = 9995Ω 

2) S = 8.3 x 10–2Ω, R = 995Ω 

3) S = 4.3 x 10–5Ω, R = 9950Ω 

4) S = 8.3 x 10–5Ω, R = 995Ω 
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NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

 

NEET MICRO TEST 18 (28.11.2024)    20x4=80 MARKS 

 

Botany: Ecosystem, Zoology: Body fluids & circulation 

Chemistry: Alcohols Phenols & Ethers, Physics: Moving Charges & Magnetism 

 

Solutions 

 

1. Answer: (2) 

2. Answer: (3) 

3. Answer: (4) 

4. Answer: (3) 

5. Answer: (1) 

6. Answer: (2) 

7. Answer: (2) 

8. Answer: (4) 

9. Answer: (3) 

10. Answer: (3) 
 

11. Answer: (4) 

When electron withdrawing group present at 

ortho or para position then acidic strength 

increases due to –R effect. Because of hydrogen 

bonding acidic strength of ortho-nitrophenol 

decreases slightly. 
 

12. Answer: (4) 

A is propan-2-ol 

B is propan-1-ol   
 

13. Answer: (3) 

14. Answer: (2) 

 

16. Answer: (2) 

 

17. Answer: (1) 

18. Answer: (4) 

19. Answer: (2) 

20. Answer: (1) 

 

t-Butylmethylether
3CH

3CH

3 3H C – C – O – CH

3CH

3



CH

3 3

– +
C  – C – O K  + H C – Br  H

CH3 CH2

OH

NaOI
CHI  + HCOONa3

yellow
ppt

15. Answer: (2)

 
 CH (CH ) CH OH CH (CH ) COOH

Jones reagent
1-Decanol Decanoic acid

3 2 4CrO –H SO

3 2 8 2 3 2 8

0
B.d I 
����

� l  = 4  x 10
-7 1

4

 
  

 = 10
-7

 wb/m 

1 2
0

N N
I I
l l

 

=  
7

1 2

4 x10
(3) N N

0.1


  

= 120  x 10
-7

(90) 

= 3.4 x 10
-3

 T 

 B = 0

2

0 2i
F

4 a





;  
2

0
1

2i
F

4 x





(Attraction) 

2

0 0
2

2i x 2i 2i
F

4 2x 4 x

 
 
 

(Repulsion) 

Thus F1 = -F2 

i
v

G


   

1mA
I

10div

 
  
 

(150 div) = 15 mA 

g

1mV
V (150div) 75mV

2div

 
  
 

 

g

g

V 75mV
G

I 15mA
  = 5 

(a) I (current to be measured) 

= 
6A

(150div) 900 A
div

   
 

 

As 
3

g

I 900 A 900 A
n

I 15mA 15 x10 A
   = 6 x 10

4
 

4 4

G 5 5
S

(n 1) (6 x10 1) 6 x10

 
  

 
 

= 8.3 x 10
-5

  
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